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1. DUTArs784 two-sided market FA4RFE 2
(A) Groupon
(B) Facebook and its application
(C) iPhone and its application
(D) Yahoo.com
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(A) TE—RRAEREEF » AR LIOR tacit
knowledge and explicit knowledge °

(B) El3ETEE SEHYE explicit knowledge °

(C) FNE8EH + EAVERSEANATHS explicit
knowledge °
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3. Which IT acquisition method should be
considered only for specialized applications for
which components are not available?

(A) Build from scratch.

(B) Build from components.
(C) Buy.

(D) Lease.

(E) Cloud computing.

4.  One of the most important tasks of managers is
making decisions. IT changes the manner in
which many decisions are made, except.

(A) Less reliance on experts to provide support
to top executives.

(B) Empowerment of lower and middle levels of
management.

(C) Thicker organizations.

(D) Decision making undertaken by
non-managerial employees.

(E) Power redistribution among managers

5. One method of estimating project time is to use
industry standard factors for each project phase.
With this method, if the planning phase typically
takes 15% of total project time, and a particular
project requires three months for planning, then
the remainder of the project will require

(A) 15 months

(B) 20 months
2

(D) 4.5 months
(E) 3 months

proposed solution is called
(A) Systems analysis.

(B) Systems design.

(C) Feasibility studies.
(D) Prototyping.

(E) Projecting.

7. Transformation of data into scrambled code prior
to its transaction is called
(A) Encryption.
(B) Decryption.
(C) Electronic transformation.
(D) Backup.
(E) Rollover.

8.  Which one is not difficulty in protecting

information resources?

(A) Hundreds of potential threats exist, and they
keep changing.

(B) Computing resources may be situated in a
repository.

(C) Many individuals own or control information
assets.

(D) Computer networks can be outside the
organization and difficult to protect.

(E) People tend to violate security procedures
because the procedures are inconvenient.

9. Which description about ‘Big Data’ is incorrect?
(A) Business Intelligence uses descriptive

statistics with big data with high information

density to measure things, detect trends etc.

They include data sets with sizes beyond the

ability of commonly used software tools to

capture, curate, manage, and process the data

within a tolerable elapsed time.

(C) They are large collections of data.

(D) The text and images of Wikipedia cannot be
an example of big data.

(E) The transaction records of Amazon.com or
PC home are an example of big data.

B)

10. Which order about SDLC is correct?

(A) Implementation — operation — post-audit
evaluation — maintenance

(B) Maintenance — operation — implementation —
post-audit evaluation

(C) Implementation — operation — maintenance —
post-audit evaluation

(D) Implementation — maintenance — operation —
post-audit evaluation

(E) Implementation — maintenance — post-audit
evaluation — operation
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Which one is not a criterion for determining
which application development approach to use?
(A) Scaling.

(B) Sizing requirements.

(C) Performance requirements.

(D) The functionalities of packages.

(E) Ad hoc requirement.

An illegal program, contained within another
program, that ‘sleeps’ until some specific event
occurs, then triggers the illegal program to be
activated and cause damage is called

(A) Virus.

(B) Trojan horse.

(C) Salami slicing.

(D) Trap door.

(E) Back doors.

Which is the most appropriate criterion for
choosing a software application package?

* (A) Usability and reusability.

(B) Upgrade policy and cost.
(C) Vendor’s reputation.

(D) System flexibility.

(E) All of the above.

Which one is not used in authentication?
(A) Public keys

(B) Tokens

(C) Biometrics

(D) Firewalls

(E) Username/password
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(A) TERZINES

B) EREE
©) AEETH]
(D) BS7799/1S027001
(E) ISO9000

PRI RAMEE (systems thinking ) » FHIATELL

MESIE 2

(A) R —{EEEES  BHRIEL Rt EE
i S EIR R

(B) ILEEREHEE —E L Erody i%@jﬁﬂﬁb

(C) (BB AR RESI T ETHEE R 4% -

17,

18.

19.

20.

21.

FERAEEFLE (B NESE

Which of the following refers to the cloud
providing the computing hardware to the firm as a
remote service?

(A) Computing as a service (CaaS)

(B) Utility as a service (UaaS)

(C) Software as a service (SaaS)

(D) Platform as a service (PasS)

(E) Infrastructure as a service (IaaS)

Economic platforms having two distinct user
groups that provide each other with network
benefits are called

(A) Two-layered structure.

(B) Two-sided market.

(C) Two-sided architecture.

(D) Two-layered market.

(E) Two-term continuum

Understanding the as-is system, identifying
improvements, and developing requirements for
the to-be system are the steps of the system
phase.

(A) analysis

(B) design

(C) implementation

(D) planning

(E) installation

Which of the following statements is false?

(A) The phenomenal growth of video sharing
websites such as YouTube is an example of
how Moore's Law can impact the business
environment.

(B) Because of Moore's Law, the cost of data
communications is essentially zero.

(C) Because of Moore's Law, any routine skill
can be outsourced.

(D) "The number of transistors per square inch

on an integrated chip doubles every 18

months." This observation is known as

Moore's Law

(E) As aresult of Moore's Law, software prices
have come down dramatically

are useful when the team needs to meet
on some topic, but not everyone can meet at the

same time.

(A) Blogs
2

(C) Wikis
(D) Team surveys
(E) Multiparty text chat

NRZIRE R Tﬁ%ﬁﬁq%%
(D) EERMEGE T A EERE - R reiugy
RGeS
(B) RE—ER4 > HrhRt e RN
REY » FELETE SR AIAT A Y 4
/E .

ey

(B) Discussion forums
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22. Which of the following strategies is also called
establishing high switching costs?
(A) establishing alliances
(B) differentiating a product
(C) reducing costs
(D) locking in customers
(E) establishment of standards

23. Which description about ‘Cloud Computing’ is

incorrect?

(A) Itinvolve a large number of computers
connected through a real-time
communication network.

(B) Itis anew concept develop after 2000.

(C) Itis distributed computing over a network.

(D) It also refers to its use in marketing to sell

hosted services in the sense of application

service provisioning that run client server
software on a remote location.

It relies on sharing of resources to achieve

coherence and economies of scale over a

network.

(E)

24. Which of the following statements about open

source is true?

(A) The term open source means that the source
code of the program is available to the
public.

(B) Open source succeeds because of
collaboration.

(C) Programmers alter or add to this code
depending on their interests and goals.

(D) Programmers may be able to resell those
projects depending on the type of license
agreement the project uses.

(E) all of the above.

25. In arelational database, a relation is a

(A) Relationship

(B) Table

(C) Entity

(D) Repository

(E) File

26. The process of making a computer program work

in a second language is called

(A) differentiating

(B) stringing

(C) localizing

(D) optimizing

(E) organizing
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27. Which of the following statements regarding

Google Drive is true?

(A) Google tracks document revisions, with brief
summaries of changes made.

(B) A Google account is not essential to edit
Google Docs.

(C) A Google account is the same as a Yahoo
account.

(D) Microsoft Excel documents cannot be
uploaded to Google Drive,

(E) Google Drive is a technology used to place
content on a shared file server in a company.

28. Thomas Friedman's declaration that the world

was now "flat" meant that

(A) global capitalism is homogenizing culture
and business practices throughout the world.

(B) the Internet has reduced the economic
advantages of developed countries.

(C) globalization is starting to offer less
advantage to large corporations.

(D) the global economy is increasingly
commanded by fewer and larger
corporations.

(E) all of the above

29. For business intelligence results to have value,

they must

(A) publish the information to the right user at
the right time.

(B) discover patterns and relationships in data to
predict future outcomes.

(C) foster innovation and improve customer

D)

E)

service.

encode, save, and process expert knowledge.
all of the above
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44. The phenomenon in which the variability in the
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46. Mark recently received an email from what
appeared to be a legitimate company, asking him
to update and verify his credit card details.
Unknowingly, he obliged and later realized that
the information had been misused. It is a victim
of
(A) hacking
(B) phishing
(C) pretexting
(D) sniffing
(E) spoofing
47. Netflix's public announcement of a reward for a
technology solution to its movie recommendation
system is an example of
(A) long-tail marketing.
(B) crowdfunding.
(C) crowdsourcing.
(D) behavioral targeting.
(E) prediction markets.
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